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~ No. of Questions /Wt €' &uaT : 150
10 /WWA ; 2 Hours /9% Full Marks/qots : 450
®: (1) Attempt as many questions as you can. Each question carries 3 marks.

One mark will be deducted for each incorrect answer, Zero mark will be
awarded for each unattempted question.
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(2) If more than one alternative answers acem to be approximate to the
correct answer, choose the closest one.
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. The total random kinetic energy of one gram of nitrogen at 300 K is
(1) 133'4 joule {2) 1356 joule

(3) 234'7 joule (4) 2-34 joule

1) 1 . P.T.0)

»
collegedu nia
o - India’s largest Student Review Platform

—



15P/288/5

a. Which of the following particles is respensible for carrying away the missing
energy and momentum in a nuclear decay process?

{1} Alpha-particle (2) Neutrino
(3) Lepton (4) Proton

3. Enlarcellworkan_n the principle of
{1) laser technology | | {2} photo-conduction
(3} thermal emission " {4) Tyndall effect

4. The force between two long paraliel conductors is inversely proportional to
(1) radius of conductors |
(2) product of current in two conductors
(3) distanice between the conductors
(4) length of conductors

8, The ground state cnergy of a harmonic oscillator is

(1) B=ho 2 B=2 @) E=(2/3)h (4 E=10

6. Inlaurpmducﬂnnﬂmnth.teinwhichmmatomaminthcuppcrstatethanin
the lower one is called

(1) metal stable state (2) normal state
{3) inverted population (4) excited state

(341) 2
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ﬁtcmpcmtumdiﬂemmofsxiuequs]tu
(1} a difference of 7-6 on the Celsius scale
2) a difference of 90 on the Fahrenheit scale
(3) a difference of 28 on the Rankine scale
{4) a difference of 65 on the Fahrenheit scale

The following equation ia an example of which type of nuclear reaction?
120, + *He, - %04 + energy

(1) Fusion {2} a-decay (3} Fission (4) B-decay

Out of the following pairs, choose the pair in which the physical quantitics do

not have identical dimension? '

{1} Pressure and Young's modules

(2) Planck’s constant and angular momentum

(3) Impulse and moment of force

{4) Porce and rate of change of linear momentum

The LED is usually made of materials like
(1) GaAs (2) C and Si (3) GeAs (4)” GeAr

Of the foHowing natural i:he;mmcna, which one is known in Sanskrit as ‘deer’s
hirst’? sl

(1) Rainbow @2) Earthshine (3) Halo (4) Mirage

3 | ~ (P.T.6)
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13. Pyrometer works based on which of the following processea?
(1) Laser technology {2) Photo-conduction
{3} Thermal emission (4) Tyndall effect

13, Optical fibre operates on the principle of
(1) total internal reflection (2) Compton effect
.(3} photoelectric effect (4) laser technology

14. Two thin lenses of power +5 D and -2 D are placed in contact with each other.
Focal length of the combination is

(1) +3 m (2) -3 m (3) 0-:33 m (4) -0-33m
18. Which type of lens is used in a simple mi:-.mmpe?
(1) Biconvex (2) Biconcave (3} Plano convex (4) Cylindricai

16. Shape of molecules arises due to
(1) electrostatic force

(2) directional nature of covalent bond

(3) metallic bond
{4) hydrogen bond
17. Which of the following has T-shape?
{1} BFy (2) NFy (3) Bri, (4} PF,

(341) 4
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S8hape of a molecule is explained by
{1) molecular orbital theory (2} crystal field theory
(3) ligand field theary " (4) VSEPR theory

Boiling point decreases in the following order
(1) H,0 > H,S8>H,Se > H,Te (2) HyTe>H, 0 > H,Se > HyS
(3] H,Se>H,Te>H,8>H,;0 (4) H,8> H,Se > H,0 > H,Te

In water molecule, oxygen has hybridization
(1) sp? (2) sp® (3) dsp? (4} dsp®

Clathrate compounds mvoive |
(1} hydrogen bonding (2) electrostatic forces
(3) weak forces (4) covalent forces

Eriochrome black-T is

(1} metal indicator

(2) redax indicator

(3) acid-base indicator

(4) conductometric titration indicator

Dimethyl oxime is used for gravimetric determinaton of
(1) Al (2) Ni {3} Ga (4) Fe

S (P.T.0)
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24, Which is not true for a precipitate to be used as gravimetric determination?
(1) Stability and composition should not change with temperature
(2) Stability and composition should not change with concentration
(3) Stability and composition should not change with solvent
(4} Stability and composition should change with temperature

48. Which is not true for colorimetric determination?
(1) Solution should have colour
(2) Solution should follow Lambert-Beer law .
(3) A particular wavelength of light should be used for measuremient
(4) Absorption is independent of concentration of the wl;.utlon

26. .Ax:ﬁvaﬁnn energy of a reaction is
(1) the energy released during reaction
(2) the energy evolved when activated complex is formed
(3) minimum amount of energy nceded to overcome the potential barrier
{4) the energy needed tg form one mole of the product

27. The molecularity of reaction

CH,COOC;Hs + H,O0 - CH,COOH + C,HzOH
ia 2. The order of reaction is

(1) O (2) 1 {3) 2 4) 4
(341) 6
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For a reaction 2A + B = C + D, the concentration nthkeptmnmntmdthat
- of A is tripled. The rate of reaction

(1) will increase nine times (2) will increase three times
{3) will decrease threc times {4} eannot be predicted

Increase in the rate of reaction due to rise in temperature is due to
(1) increase in cellision frequency

(2) lowering of activation energy

(3) increase in number of effective collizsions

(4) dmhm&equency

Which one does not influence the rate of reaction?

{1} Nature of reactant (2) Concentration of reactant
{3) Temperature (4) Molecuilarity |

The role of oxygen in respiration is to

(1) promote Krebs’ cycle (2) promote glycolysis

(3) act as last electron acceptor {4) oxidise organic food

Nitrosomonags and Nitrobacter interaction in the nitrogen cycle where
Nitrosomonas oxidizes ammonium ions to mtrltc and Nmm:mﬂma niu:ite
tnn:lh'ntc is an example of

(1) Protocooperation (2) Synu-npimﬁ
(3) Cnmmenulm ., : (4) Mutualism

7 - (P.T.0)
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38.

36.

37.

(341)

Morpholegically different forma of same organisma are known as

{1) ecad (2) ecotone {3) biome (4) population
Which of the following bacteria are employed to reduce pollution of petroleum
spillage?

(1) Pseudomonas sp. - {2) Myooplasma sp.

(3) Escherichia coli (4) Azotobacter sp.

In grassland ecosystem, the pyramid of biomass is

(1) upright (2) inverted

(3] spindle shaped (4} None of thesde
Tertn MAB stands for |

(1) Man and biotic community (2) Man and biosphere

- (3) Man, antibiotica and bacteria (4) Mayer, Anderson and Bisby

Species that occur in Fliﬁmtmphicalmﬁan:aumbyapmlﬂhmﬁer
are

(1} Allopatric | 2) Sympatric
{3) Sibling (4) None of the above

mgmciagivmmwndiﬁnnn under which members of species live and
8 :

(1) Ecosystem . {2) Habitat
(3) Niche (4) Carrying capacity
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The exchange pool in carbon cycle is
(1) fossil fucls (2) sedimentary rocks
(3) the oceans | {(4) the atmosphere

., Becteroids is a special form of bacteria involved in
(1) photosynthesis (2) nitrogen fixation

(3} respiration {4) photorespiration

.. No. of binding sites for ﬁﬁ molecules in a single leghaemoglobin molecule
(1) 1 {2) 2 (3) 3 4) 4

). Which of the following is not found in nitrogenase compelx?
(1) Iron {2} Molybdenum (3) Vanadium 4) Cuhnlt

). The percentage of alcohol in beverage is called
(1) the proof (2) the alcohol percentage

(3) the alcohol concentration {4) the fermentation

. Study of enology deals with
(1) probiotics (2) cheese production
{3) wine production (4) antibiotic production

(2} ; 9 {P.1.0.)
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48. In industriat production of streptomycin the secondary metaholite or by product
is

{1} vitamin 12 {2} vitamin C (3) vitamin 6 (4) ethanol

46. Radial symmetry is best seen in
(1) apoﬁge {2) Mollusca {3) starfish (4) fishes

47. During digestion in protozoans, the medium is first
(1) acidic (2) basic {3} neutral (4) highly basic

48. Alternation of generation in Obelia is termed as
(1) Metamerism {2) Metamorphosis
(3) Metagenesis (4) Dimorphism

49. Planarians have extra i:owcr of regeneration due to the presence of
(1) Parenchyma (2] Rhabdites
(3) Neoblast cells (4) Interstitial cells

80. The excretory product in an insect is
{1} guanine (2) ammonia 13) urea (4) uric acid

81. Notochord is rod like and persistent throughout life in
(1) Hemichordates (2) Urochordates
(3) Cephalochordates (4) Echinoderms
(341) 10
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. Tail in cyclostomes is |
(1) homocercal {2} heterocercal (3] hypocercal (4) diphycercal

). The accessory respiratory organ in lung fishes is
{1} gills ' (2) swim bladder
(3) lung {4) urinary bladder

¢. Neoteny refers to
{1} retention of rudclmenta:y Organs

(2) metamorphosis
(3) retention of larval characters in aduits

(4] degeneration of larval characters in adulta

B. In birds, the last 3 to 4 tail vertebrae are fused to form
(1) Furcula (2) Pygostyle {3) - Synsacrum {4} Keel

6. Ovulated cggs of mammals are arreate:d at

(1) metaphase-1 stage (2) metaphase-11 stage
(3) diplotene stage (4) pachytenc stage
7. Spermiogenesis in mammals result in the formation of
(1) spermatid | {2} spermatozoa
(3) spermatogonia (4) spermatocyte
41 11 - (P.T.0)
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8.

61.

(341)

In pogenesis, how many polar bndieq are formed at the end of meiosia?
(1) 2 {2) 3 (3) 4 4 1

In the testes, androgens are produced by
{1} Sertoli cells (2) interstitial cells
(3) spermatocytea (4) sperm mother cells

Ability of spermatozoa to fertilize the ovum is called as

(1} acrosome reaction {2) fertilization

{3} capacitation (4} emgg activation

In most cases protein kinases

(1) hydrolyze proteins (2) polymerize amino acids

(3) remove amino acids {4) add phosphate groups to proteins

The histone protein that joins with H2A, H3, H4 to form one tetramer unit of
nucleosome is

(1) H2A (2) H2B (3) H1 (4) H3

(1) Mitochondrion—Photosynthesis
(2) Nucleus—Cellular respiration

{3) Ribosome—Manufacture of lipids
{4) Central vacuole—Storage

12
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The enzyme that catalyzes the synthesis of DNA
(1) ‘cn&onucleau | (2) gyrase
{3) hehcm ' (4) DNA polymecrase
Gap junctions are constructed of
(1) connexin (2) GAPs (3) cadherin (4} integrin
An enzyme that relieves strain while double-au:and DNA is being unwound
(1) DNA helicase (2) DNA hgase
(3) DNA gyrase (4) DNA polymetase
Meselson-Stahl experiment in 1958 provides evidence for
{1) continuous DNA synthesis |
(2) discontinuous DNA synthesis
(3) conservative DNA synthesis
|4} semiconservaiive DNA synthesis
5. The discovery of Okazaki fragments suggested that DNA synthesis is
{1} discontinuous (2) continucus
(3) semiconservative (4} All of the above
9. Cyclic AMP is formed from ATP by
(1) adenylyl cyclase (2) cAMP phosphodiesterase
(3) guanylyl cyclase (4) protein kinase A
b1) 13 | - (PT0}
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71.

4.

78,

(341)

DNA replication takes place in _
(1) M-phase of the cell cycle {2) S-phase of the cell cycle
(3) Gl-phase of the cell cycle (4) G2-phase of the cell cycle

Leydig cells are found in
(1) liver {2) testis
{3) kidney : | (4} ovarian follicle.

Estrogens are secreted by
(1) pituitary {2) corpus luteum
(3) testis (4) thyroid

'_I_'hc single most abundant protein in a.nrmal tissues is

(1) collagen (2) talin {3) fibronectin (4) vinculin
Which eukaryotic polymerase transcribe mRNA?

(1) RNA polymerase | (2) RNA polymerase 1l

(3) RNA polymerase 11 {4} DNA polymerase ]

Which one of the following modifications leads to protein degradation?
(1) Methylation (2} Acetylation |

(3} Phosphorylation (4] Polyubiquitination

14
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Which of the following processes occur during mitosis (M-phase) of cell cycle?
{1} DNA replication (2) Crossing-over
(3) Sister chromatid segregation {4} DNA damage control

Most human cells arc diploid with total DNA content of 2c. At anaphase of
mitosis, the DNA content of each cluster will be ‘ :

(1) 4c 2) 2¢ 3 3¢ @ 1c

Holocentric chromosomes are
{1} chromosomes with multiple centromores
(2) additicnal chromosomes

(3) short chromosome with many genes

(4} centromere at the centre

Polytene chromosomes are formed due to

{1} repeated S-phase but no M-phase

(2) repeated karyokinesis but no cytokinesis

(3) repeated S-phase but M—phasa.wiﬂmut anaphase

(4} non-disjunction of chromosomes

15 / (P.T.0.)
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80. C-value paradox tells us about
(1) colinearity betweén genome size and cbmplexity of organism
{2) non-colinearity between genome size and complexity ﬁl‘ organism
(3) dosage compensation '
(4) number of chromosome

81. Dosage compensation of sex chrmmc'm human is brought about by
{1} inactivity of one X-chromosome in females
(2) hyperactivity of single X-chromosome in males
(3) hypoactivity of both X-chromosome in faemales
{4} hyperactivity of autosomes in females
82. Protein translation occurs in
(1) nucleus {2) mitochondria
(3) ¢ytoplasm (4) None of the abave
83. The function of peroxisome is
(1) lipid biosynthesis {2} protein degradation
(3} storage of starch (4) removal of free radical
84. The function of lysosome is
(1} lipid biosynthesis (2) protein degradation
{3) storage of starch !4] removal of free radical

(341) | | 16
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(1) Covalent bonds (2) Hydrophilic interactions
(3) Hydrophobic interactions (4) None of the above

Variant phenotypes inherited only matemnally are due to mutations in the DNA

of
(1) mitochondria (2) autosomes
(3) X-chromosome (4) Y-chromosome

The maximum percentage of recombinant offspring can be
(1) 25% (2) S0% (3} 75% (4} 1_00%

During cukaryotm recombination, the pairing of the homologous DNAs and
strand invasion are catalyzed by -

(1} Rad51 and Dcm} | (2) RecA protein
(3) Rad52 and Rad59 (4} MRX protein

). During recombination, chi sites control the activities of
(1} RuvAB complex {2} RuvC |
(3) RmBCD (4) DNA polymerases

). Karyotype of a patent of Turner syndrome is written as
(1) 45X 2) 47 XXY (3) 47,XXX (4) 47,.XYY

) 17 (P.TO)
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91.

93 L]

(341)

Epicanthal folds is one of the mﬁﬂ of
(1) Edward syndrome (2) Klinefelter syndrome
(3) Patau syndrome {4} Down syndrome

Patients of Cri-du-chat syndrome have aneuploidy of chromosomal arm

(1) 13q (2) 5p {3) 21q (4) 7p

C-banding of human chromosomes specifically revelas -

(2) polymorphism of constitutive heterochromatin of chromosomes 3, 7, 12

and X

(3] polymorphiam af facultative heterochromatin of chromosome X
(4) all the highly repetitive sequences

Dark bands of the G banded human chromosomes represent
(1) euchromatin _ ~ {2) heterochromatin
(3) high copy number repeats (4) low copy number repeats

Theﬁutchmlnnmmebmdlugt:chniqucdmn'bedm
(1} DA-DAP] banding (2} R banding

(3] G banding (4) Q banding

18
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The smallest human chromosome on the basis genomic size (in base pairs) is

(1) chromosome 20 (2] chromosome 21
(3) chromosome 22 (4] Y chromosome
Pleiotropy means

(1) one gene can affect more than one trait

(2) one trait can be affected by more than cne genes
(3) one trait can only be affected by one gene

{4) two closely linked genes affect one trait

Extranuclear inheritance occurs due to

{1} chromosomes that may become detached from the spindle during meiosis
(2) chromosomes that may become detached from the spindle during mitosis
3) genetic material that is found in chloroplasts and mitochondria

(4) mutations that disrupt the integrity of the nuclear membrane

Nonsense mutation is

{1) tﬁutatinn that resuits in codnn‘ch_ang: that do m:;t alter the aminec acid
{2} mutation that results in a changed amino acid

(3} mutation that results in truncated protein

{4} mutation that results in gain of fun-ctinn of a protein

19 P.T.0)
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100,

101.

103.

103.

(341)

Some human diseases are caused by mutations in mitochondrial genes. Which
of the following statements is false?

(1) Mitochondrial diseases usually follow a maternal inheritance pattern

(2) Mutations associated with mitochondrial diseases often affect cells with a
high demand for ATP

(3) The symptoms associated with mitochondrial diseases tend to improve with
age

(4} Heteroplasmy plays a key role in the severity of disease symptoms

Leber Hereditary Optic Neuropathy (LHON) occurs due

(1) a mutation in one of several mitochondrial genes that encode respiratory
chain proteins

(2) a mutation in the ATPase6 gene

(3) a mutation in a gene that encodes a tRNA for leucine

(4} a mutation in a gene that encodes a tRNA for lysine

Fragile-X syndrome the consequence of

(1) deletion of FMR1 gene on q arm of X chromosome

(2) tri-nucleotide repeat expansion of S-untranstated region of FMR1 gene
{3) tri-nucleotide repeat expansion of 3-untranslated region of FMR1 gene
(4] tri-nucleotide repeat expansion of coding region of FMR1 gene
Fraction of the total human genome consisting of coding sequences is

(1) 1-2% (2) 5~10% (3} 10-20% (4) about 40%

20
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¢. The current estimate for the total number of transcribed genes in the human

genome is
(1) about 100000 | (2) about 60000

(3) about 30000 (4) about 20000

B. QGenetic linkage occurs because
(1) genes that are on the same chromosome may affect the same trait

{2} genes that are close together on the same ‘chromosome tend to be
transmitted together to offspring

. (3} genes that are on different chromnéomna are independently assorted

(4} genes that are on different chromosomes may affect the same trait

6. Recombination fraction is a measure of
{1} genetic distance between two loci
{2) physical distance between two genes
(3) locus heterogeneity

(4) epistaais

¥7. A single recombination event produces
{1} four recombinant chromatids
(2) one nun*rmmbinant and three recombinant chromatids
(3) two non-recombinant and two recombinant chromatids

(4} three non-recombinant and one recombinant chromatids

41) 21 (P.T.0.)
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108. . Haplotype is

(1) sets of alleles on the same chromosomal segment that tend to be
transmitted as a block through a pedigree

(2) sets of alleles on the same chromosomal segment that are almost always
assorted independently through a pedigree

{3} sets of alleles on different chromosomes that are almost always assorted
independently through a pedigree

(4) haploid set of chromosomes

109. Pericentric inversion is _
{1} inversion of & chromosomal segment that does not include centromere
(2} inversion of a chromosomal segment that includes centromere

(3) fusion of two homolegous chromosomes involving short arms where one is
inverted resulting in one dicentric chromosome

{4} fusion of two non-homologous chromosomes involving short arms where
one is inverted resulting in one dicentric chromosome

110. micro-RNA is

(1} fragmented mRNA that codes for incomplete protein
{2) mRNA of micro-organisms ‘

(3) non-coding RNA that binds to tRNA

(4) non-coding RNA that binds to complementary mRNA

(341) 22

»
P collegedunia:
e : .
India’s largest Student Review Platform

el



1B,

41

15P/288/5

If the egg white protein, ovalbumin, is denatured in a hard-boiled cgg, then
which of the following is least affected?

(1) The primary structure of ovalbumin
{2} The secondary auﬁcturc of ovalbumin
(3) The tertiary structure of ovalbumin

{4) The guaternary structure of ovalbumin

Enzyme having slightly different molecular structure but performing identical
gctivity 1s

(1) holoenzyme (2) apoenzyme  (3) isocnzyme {4} coenzyme

Camly'ﬁseﬂicicncynftwommesmhecompamdbjrthe
(1) formation of the product {2} K, value
(3) molecular size of the enzyme (4) pH of optimum value

Sythases belongs to which class of enzyme?

(1) Ligases (2) Transferases (3) Epimerases {4} Lyases

Election Commission number for alcohol dehydrogenasecs
() L2111 (2 1112 3) 1.2.2.1 (4) 1.1.1.1

23 | (P.T.0.}
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1i6. Which of the following compounds is respensible for coordinated regulation of
glucose and glycogen metabolism? '

(1) NAD* (2} Fructose 2,6-bisphosphate
(3) Acetyl-CaA _ (4) Fructose 1,6-bisphosphate

117. The cells dependent solely on glucose as an energy source are
{1} muscle cells | (2) brain cells-
(3) kidney cells : {(4) liver cells

118. During vigorous exercise, pyruvate produce by glycolysis ias converted to
(1) acetate {2) lactate
(3) monoscdium phosphate {4) pyruvic acid

119. Saliva contains all of the following, except
(1) hormones (2} amylase
(3) bacterial-killing Enzymes ' (4] antibodies

120. The conversion of pyruvate to oxaloacetate
(1) requires biotin
(2) involves the fixation of carbon dioxide
(3) occurs in the mitochondria
(4) All of the above

(341) 24
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Two major products of pentose phoaphm pathway are

(1) nicotinamide adenine dinuclectide and ribose S-phosphate
(2) favine adenine dinucleotide and glucose S-phosphate

(3) FAD and CoA '

(4) NADPH and NAD

3. A catabolic intermediate which stimulates phosphofructokinase would

stimulate
(1) gluconeogenesis {2) glycolysis
{(3) glycogen synthesis .(4) None of these

3. Pyruvate is initially converted to which of the following in the gluconeogenesis?

(1) Glycerol (2) Phosphoenolpyruvate
(3) Oxaloacetate | (4) Acetyl CoA

\4. Citric acid accumulation would |
(1) stimulate phosphofructokinase activity
(2) stimulate fructose 1,6-diphoaphatase activity
(3) inhibit phosphofructckinase activity
(4) Both (2) and (3)

A1) 25 (P.T.OJ
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128. Phosphofructokinase, the major {lux-controlling enzyme of glycolysis is
allosterically inhibited and activated respectively by

{1) ATP and PEP (2) AMP and Pi
(3) ATP and ADP (4) Citrate and ATP

126. In cukaryotes, fatty acid breakdown occurs in
{1] mitochondrial matrix (2) cytosol
(3) cell membrane {4) endoplasmic reticulum

127. How many ATPs are formed during complete axidation of palmitate?
(1) 35 (2) 96 {3) 129 4) 131

128. Membrane potential and the proton gradient
(1) are both required to make ATP
{2) are sufficient, scparately, to make ATP from ADP + Pj
(3) reinforce one another when respiratory inhibitors are present
(4) cancel one another when uncouplers are present

129. Coenzyme Q is involved in electron transport as
(1} directly to O,
(2) a water-soluble electron donor
(3) mvalcntl?r attached cytochrome cofactor
(4) a lipid-soluble electron cartier

(341} 26
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A purine with an amine (NH;) group on the 6th carbon is |
(1} adenine (2} cytosine (3) thymine  {4) guanine

The chromosomal DNA complexes with

(1) three types of histonc as H1, H2A and Hé

(2) five types of histone as H1, H2A, H2B, H3 and H4
(3) four types of histone as H1, H2A, H3 an H4

(4) two types of histone as Hi and H4

{f one cell has AT contents 40%, what will be the percentage of guanine residue?
{1) 60% -

(2) 15%

(@) 30%

{4) Guanine residue cannot be calculated

. In protein synthesis in prokaryotes

1)

(1} the initiating amino acid is N-formyl methionine
(2) the initiating amino acid is methionine

(3} the initiating amino acid is phenyl alanine

(4) None of the above

27 P.T.0)
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134. The lac operon contains the z, v and structural. genes

(1) encoding beta—gn]nntmzda-e galactose permeases and thio- glactomda.ae
transacetylase respectively

(2) encoding beta-galactosidase and galactose permeases
(3) encoeding beta-galactosidase only
(4) None of the above

138. In the presence of tryptophan in the cell, the repressor is

{1} bound to tryptophan
(2) bound to DNA

(3] bound to both DNA and tryptophan
(4) bound to neither tryptophan nor DNA

136. The mechanism of intake of DNA fragments from the surrounding medium by a

cetl is called .
{1) transformation (2) transduction
(3) both (1) and (2) (4] conjugation

137. The DNA molecule to which the gene of insert is integrated for cloning is called
{1} injector ~ (2) transformer
(3) vector (4) None of these

(341) 28
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Which of the following is the most important discovery that leads to the
development of recombinant DNA technology?

(1) Discovery of double helix model by Watson and Cnck
(2) Discovery of DNA as genetic material

{3) Discovery of restriction enzymea

{4) All of these

Who discovered restriction enzymeas?
(1) Watson and Crick (2) Jacob and Monad

(3} Nathan, Arber and Smith (4) Boyer and Cohen

Restriction enzymes capable of making internal cuts in a DNA molecule is called
(1) restriction exonucieasc (2) restriction endonuclease

(3} both (1} and {2} (4) S1 nuclease

A cDNA version of a gene includes

(1) nac[ucnc-c corresponding to exons

(2) sequence corresponding to introns

{3} sequence corresponding to introns and exons both

(4) sequence corresponding to hnRNA

29 P.T.0}
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143. Match the following :

List—] List—[T
(i Restriction endonuclease {p) Kary Mullis
(i) DNA fingerprinting () Kohler and Milstein
(iii) Polymerase chain reaction () Alec Jaffreys
(iv] Monoclonal antibodies (s) Arber

(1} ()-(s), (ii)-(r), {idi)-(p), (ivi-(q) (2} (i)-(s), {ii)-(r}, Ciii)~{q), Giv)-(p}
(3) -(q), {ii}-(r}, {idi)-{p}, (iv)-(s) (4) ()-(a), (iD-{p), (iii)-(q}, {iv)-(r)

143. Which of the following statements about a vectar is correct?
(1) All vectors are plasmids only
(2) Piasmids, phages can bc used as vectors
(3] Fungi can alsc be used as vectors
(4) Cyanobacteria can also be used as vectors

144. Which one of the following statements are not attributed to plasmids?
(1) They are circular DNA molecuie
(2) They have antibiotic resistant genes
{3) They have the ability of autonomous replication
(4) They have DNA that is as long as chyomosomal DNA

(341) 30
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. In restriction endonuclease EcoRl, ‘E’ stands for
{1} Extraction
(2} the first letter of the genus in which it is present
{3) Endonuclease
(4) Exonuclease | P

% Fruit juice or coconut milk is added to plant tissue culture media because
(1) it is a source of micrenutrients
(3} it is a source of macronutrients
(3) it is a source of growth regulators
{4} it helps in maintaining pH of the media
. The bacterium used for gene transfer in plants is
(1) E. coli (2] Rhizobium
(3) Aszotobacter (4) Agrobacterium

b Match the following :

List—I List—II
({} Restriction endonucleases {p] Small DNA segments used in DNA
fingerprints ,
(ii) Ligases {q) Molecular scissors
{iii) Probe {r) Virus free plants
{iv) Meristem culture {s) Molecular stichers

(1} @)-(@), Gi)-(8), (i}-(p), (i9)-{r) {2) G)-(p), (ii)-(g} {ii)-{r), (iv)-(s)
(3) {)-{q), (ii}-(s), (iii)-(r), (v)-(p) (4} (i}-(p), Gi)-(s), (iEi}-(aq), (iv)-[r)

Y 31 (P.T.0.)
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149. The Klenow fragment of E. colii DNa polymerase | has
(1) 5 to 3 exonuclease activity
{2) 3' to 5’ exonuclease activity
{3) DNA ligation activity
{4} phoaphatase a;ﬁvity
180. A hybridoma is
" (1) a hybrid cell ubtained by fusing a B-lymphocyte with a myeloma cell in vitro
(2} a hybrid cell obtained by fusing a p-lymphocyte with a myeloma cell in vivo
(3) a hybrid cell obtained by fusing 2 B-lymphocyte cells in vitro
{(4) a hybrid cell obtained by full.ing any 2 body cells in vitro

* h &
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